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Write the letter of the best choice for each question in the given answer script:
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Factor the following expressions completely:
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Solve the following equations:
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Using matrix inverse, solve the following system of linear equations.
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An aerospace company has submitted bids on Separate contracts A and B. The company feels that it

has a 60% chance of winning contract A and a 30% chance of winning contract B.

a) Ifthe company believes that winning contract A is independent of winning contract B

I) What is the probability that the company will win both contracts?

) What is the probability that the company will win at least one of the two contracts?
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iii)

b) Given that it wins contract B, the company believes it has an 80% chance of winning contra

A. If the company wins contract B, what is the probability that it will not win contract A?

The probability that house saies will increase in the next 6 months is estimated to be 0.25. T

probability that the interest rates on housing loans will go up is estimated to be 0.7. The probabili

that house sales and interest rates will go up during the next 6 months is estimated to be 0.20.

a) What is the probability that house sales or interest rates increase during the next 6 months?

b) What is the probability that house sales will go up given that the interest rates will increml
during the next 6 months?

¢) Find the probability of an increase in house sales and not an increase in interest rates.

A department store manager has monitored the number of complaints received per week about p(:]
service. The probabilities for number of complaints in a week, established by this review, are sho

below.

Number of complaints 0 1 2 3 4 -
Probability ~ 0.14 039 023 0.15 0.06 0.03 »

Let A be the event “There will be at least one complaint in a week” and B the event “There will

most 3 complaints in a week” ‘

a) Find the probability of event A. 3

b) Find the probability of event B. ’ L

¢) Describe the event that is the complement of A and find its probability.

d) Describe the event that is the union of A and B and find its probability.

e) Describe the event that is the intersection of A and B and find its probability.

f) Are A and B mutually exclusive?

g) Are A and B collectively exhaustive?

h) Are A and B independent?
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